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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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P3-9
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P3-9
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P3-9

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:00 294 150.0 (Z=| {Ri%@07:00 Bz (FEAHERHSR)
07:25 294 150.0 [ =| 1BRi&e07:25 Bzh (REERSE)
09:10 294 150.0 = RRiB009:10 Bz (REAKEE)
10:05 294 150. 0 E BRi%e10:05 Bzl (GRAERERE)
10:50 294 150.0 S {Ri%@10:50 B3 (GRAERSE)
11:30 294 150.0 =l RRiB011:30 Bz (RFAEEE)
12:15 294 150. 0 E BRige12:15 Bz CGRAERESE)
12:55 294 150.0 5| {Ri%e12:55 Bz (RAERSE)
13:35 294 150.0 = {RRiB013:35 B (RFAKESE)
14:30 294 150.0 |Z=| 1BRige14:30 Bzh (REERESE)
16:05 294 150.0 |Z=| 1BRi&e16:05 Bzh (REERESE)
23t 3234.0 (11%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

HERRHEME STEAERTS (191.0 : 144.0), AIgERAF—RE XAH5
BRINSEPRERL144. 0 ml.

BERESIEC (2410.0) 5iZTEEC (2000.0) HEILKA, BHHTE
#ERECE (2410. 0 vs 3805.0) hs



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=48 (2025-05-20)
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100 A

50

(¢
200 -

150 A

100 A

50 A

VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1500 499 1528

1200 [} 11345
60
Warning: lcol [FVI',| "FVO’'] missing 34

— M_E

T
N
o
o
o

- 1000

0
-45.0

-42.5

- 40.0

-37.5

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

1
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m=445, FV0=0 m=550, FV0=0 m=610, FV0=0
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—o— ME —o— ME —o— ME BT _o— MmE
43 - 44 7
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42 43 1
43 -
41 4 42 -
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T T T T T T T T T T T T
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43 - 43
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42 -
T T T T T T 42 L T T T T T T
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m=940,m FV0=0 m m=445,m FV0=0 m=550,m FV0=0
—o— ME —— MW —— MW —— MW
40 -
36. 0 - 38 -
38 1 35.5 37 1
36 35. 0 - 36 -
940 945 950 600 800 1000 445 450 455 550 555 560
m=610,m FV0=0 m=660,m FV0=0 m=710,m FV0=0 m=765,m FV0=0
41.0 4
—o— MW —— MW i —— MW —o— MW
40. 0 A 40.5
. 40.5 -
40.0
39.5 A 40. 0 -
39.5
39. 0 A 39 5 4
39.0
38.5 A 39.0 4
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38.0 38.5
38.0
37.5 38.0
610 615 620 660 665 670 710 715 720 765 770 775
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P3-9

BfiE) | BB (F) | EdiE (ER/HK) [ XK R

07:00 294 150.0 FA| 1BRi%@07:00 B3h (FKAEREEE)
07:25 294 150.0 FA| 1Bi&@07:25 B3 (KRAEREE)
08:05 294 150.0 [ =| {Ri%e08:05 B (RS
09:20 294 150.0 (& =| {Ri%e09:20 Bz (REAERESE)
10:10 294 150.0 & =| 1Ri%e10:10 Bzh (GkAEREE)
10:50 294 150.0 & =| 1Ri%@10:50 Bzh (RAHEREE)
11:25 294 150.0 =l {Rige11:25 B3 (RAERSE)
12:00 294 150.0 = Ri%e12:00 B (REAERSE)
12:35 294 150.0 = Rige12:35 Bz (REAEEE)
13:10 294 150.0 5| {Ri%013:10 B (GRAERKSE)
13:45 294 150.0 | Ri%e13:45 B (REAHRESE)
14:45 294 150. 0 5| 1Ri%e14:45 B CGREEREE)
15:30 294 150. 0 E|  {Ri1&@15:30 B3h (RE{EREE)
16:15 294 150.0 = Ri%e16:15 B (REAEESE)
=it 4116.0 (14)%) 2100. 0 3283 KEC: 2080.0, PH: 6.0

MEREHERE STAEARS (191.0 : 147.0), AIREETF—®E XAH4
BRI\ SEPRERL147.0 ml.

REXEEBIEC (2580.0) Si&TEEC (2000.0) REKR K, BT
#[EKECE (2580.0 vs 3668.0) 1R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=47 (2025-05-19)
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100 A
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Warning: lcol [FVI',| "FVO’'] missing
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o

- 1000
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0.8 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=450, FV0=0 m=500, FV0=0 m=560, FV0=0

45.0
M_E —e— ME —o— ME —e— ME
45. 0
43 1 44.5 -
44.5 1
49 4 44. 0 A
44. 0 1
43.5 -
41 - 43.5 A
43.0 -
40 1 43.0 -
T T T T T T 42 5 T T T T T T
600 800 1000 450 455 460 500 505 510 560 565 570
m=610,m FV0=0 m=650,m FV0=0 m=685,m FV0=0 m=730,m FV0=0
—o— ME —— ME | 46.54 —@— ME 46.5] —® ME
46.0 - .
] 46. 0
455 46.0
45.5 -
45. 0 - 45. 5 1
45.0 -
44.5 45. 0
44.5 -
4.0 44.5 - 44.0 -
T T T T T T T T T T T
615 620 650 655 660 685 690 695 730 735 740
m=770,m FV0=0 m=810,m FV0=0 m=855,m FV0=0 m=915,m FV0=0
47.5 -
M_E —o— ME 47.54 —@— M_E —o— ME
47.0- 47.5 -
47.0
46,5 - 47.0 -
46.5 -
46.0 - 46.5 -
46. 0 i
45.5 - 46.0
45. 5 - i
45.0 1 5.5 45.5
775 780 810 815 820 855 860 865 915 920 925
m:965,m FV0=0 m m:450,m FV0=0 m:500,m FV0=0
M_E 21 —o— uw 97 —o— mw 0.5 4 —— MW
41
40 4 38 40. 0 +
39 - 39.5 -
i 37
38 39.0
37 -
] 38.5 -
26 - 36
970 975 600 800 1000 450 455 460 500 505 510
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m=610, FV0=0

—— MW

610
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m=770,m FV0=0

—— MW
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P3-9

BfiE) | BRI (FD) | EE (EH/AR) | XK R

07:45 300 150.0 BE| 1Ri&e07:45 Bz (REAEES)
08:25 300 150.0 & =| 1Ri%e08:25 Bz (KAEREEE)
10:05 300 150.0 & =| 1Ri%@10:05 Bzh (RAHERESE)
11:25 300 150.0 =l RiBe11:25 Bz (REAKEEE)
12:35 300 150.0 E| {Rige12:35 Bz (RE{ERSE)
13:50 300 150.0 |Z=| 1Ri%@13:50 Bzh (RAHEREE)
14:40 300 150.0 (& =| 1BRiB@14:40 Bzh (REERESE)
23t|2100.0 (70%) 1050. 0 3EHKEC: 2080.0, PH: 6.0

FEREHERE STEELRF (195.0

2RI\ EPRERE150. 0 ml.

# 8] /KECZE (2660. 0 vs 3537.0) RS

150.0), FAIEEHT—@E XAH5

FEREEBEC (2660.0) 5i&EEC (2000.0) RERKX, BH/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=46 (2025-05-18)

L e e e R e e
VI, VOFRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 001 o
100 41100 090 1200 200
58F 1000
50 A 60 - 500
118 Warning: lcol [FVI',| "FVO’'] missing
04 r0
( — ME #
200 maxM T 45
______ "
100 - 40 =
1o - 35
' 4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 4 ByInit @50 01:55: ET=1645 Fg=2250.0 Ro=590.0 3000
¢ ° 2000
& o i
- 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 2000
SO0T R | % (x| W |/ | # | # | # | #s | B | A6 | # | 6 | A5 | &% | B& | PR | B3 | TA | A5 | B | A6 | B8 | B&
1
ByEt @D46 18:59: ET=1147 Fg=1176.0 Ro= 1
200 - yEt @D46 18:59 g 6. 0 Ro=nan : [ 2000
1
100 - < -4 +4  —— R T
| 1
1
Y ——— S — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 3000
SOT TR (B B | & | & | % | B | 2al22122] % | B | Ba|l242205105 2535222218525
1
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100 : [~ - 1000
1
———
1 O_EQEZ:' I’ e ——— 0
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0.4 1
0.2 A
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—_— 4
[ ] | _obs
—@— PPFD obs
o
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2.04 .'. e v f
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FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=435, FV0=0 m=485, FV0=0 m=585, FV0=0

46 —@— M_E 391 —e— ME 4204 —® ME —— ME
43.0 1
44 ]
28 - 4.5
42.5 -
42 41.0
40 - 371 40.5 - 42.0 -
38 36 40.0 7 41.5 -
%07 e 41.0
T T T T 35 L T T T 39 0 - T T T - T T T
400 600 800 1000 435 440 445 485 490 495 585 590 595
m=670,m FV0=0 m=740,m FV0=0 m=805,m FV0=0 m=885,m FV0=0
0 46.0
—o— ME 45 —o— ME —o— ME 46.01+ —@— ME
5 4 45.5 -
' 45.5 -
45. 0
. 0 T 44 n 45 0 N
44.5 - i
.51 44.5
43 44.0 44.0 -
.07
43.5 43.5 -
' 5 L T T T 42 B T T T T T T T T T
670 675 680 740 745 750 805 810 815 885 890 895
m=935,m FV0=0 m m=435,m FV0=0 m=485,m FV0=0
57 —o— ME —o— MW e 400 - —o— MW
40
0 i
37 4 39.5
38 -
5 - 36 - 39.0
36 -
0 35 - 38.5
T T T 34 _I T T T T T T T T T
935 940 945 400 600 800 1000 435 440 445 485 490 495
m=585,m FV0=0 m=670,m FV0=0 m=740,m FV0=0 m=805,m FV0=0
97 —— MW | 45 —o— MW —o— MW | 41.01 —— MW
‘ 40. 5
.0
40. 0 - 40.5 A
40. 0 1
.51
39.5 40. 0 1
0 39.5
: 39.0 39.5
39.0
-9 1] 38.5
39.0
.01 38.0 - 38.5 -
T T T T T T T T T 38.5 A T T T
585 590 595 670 675 680 740 745 750 805 810 815



m=885, FV0=0 m=935, FV0=0

41.0 - —-— MW —— MW
40.5 41.0
40.0 -
29,5 40.5 -
39.0 -
40.0 -
38.5 -
38.0 - 39.5
T T T T T T
885 890 895 935 940 945



